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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.54 56.58 | N | oo ~ 000|157 8.40 Zzh s 1.00 | 5.00 ~ 56.00 56.58 | =S | 5.00 ~ 500 1.57 8.40
2 100kN/m%#BZ25| 1.00| 000 ~ 047| 10700 |3mZEBZB| — ~ — — — | 100kN/mi%# 2% | 1.00 | 10.85 ~ 1231 107.00 |3mZEiBZ5 - ~ — — —
Zhst 1.00| 047 ~ 826 100.00 | ThLs |0oo ~ 826|207 11.08 Fhs 1.00|5.00 ~ 1085 100.00 | =nLS | 5.00 ~ 1231|207 11.08
3 100kN/mM%#BZ 5| 1.00 | 0.00 ~ 265 141.66 |3m&x#EZH| — ~ — — — | 100kN/mi% 2% | 1.00 | 1062 ~ 24.51 141.66 |3m%iBA5 -~ — — —
ZhnLst 1.00| 265 ~ 1043 100.00 | TS | 000 ~ 1043|263 14.06 Zh st 1.00 | 5.00 ~ 1062 100.00 | FnLs | 500 ~ 2431|263 14.06
4 100kN/m#%#BZ5| 1.00| 000 ~ 268| 14223 |3mZEBzE| — ~ — — — | 100kN/mi% 25 | 1.00 | 1057 ~ 2400 | 14223 |3mEHBZD - ~ — — —
Zh st 1.00| 268 ~ 1047 100.00 | TN | 0.00 ~ 1047 2.65 14.19 Fhs 1.00 | 5.00 ~ 1057 100.00 | #nst | 500 ~ 2400 2.65 14.19
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 4.58 65716 | N | 000 ~ 0.00| 1.59 8.48 ZzhLs 1.00 | 5.00 ~ 56.00 57.16 | =N | 5,00 ~ 56.00 | 1.569 8.48
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




